
 

 

Answer on Question #44397 – Math - Statistics and Probability 
 

Problem. 
The weight of new born babies is normally distributed with a mean of 3.3Kg and a standard 
deviation of 1.2 Kg. Find the percentage of new born babies between 2 kg and 4 kg  

Solution. 
The weight of new born babies is normally distributed with a mean of 𝜇 = 3.3 Kg and a standard 

deviation of 𝜎 = 1.2 Kg. The corresponding transformation formula is 𝑍 =
𝑋−𝜇

𝜎
.  𝑍 is standard 

normal variable, 𝑍~𝑁(0,1). The probability that weight of new born babies is between 2 kg and 4 
kg equals 

𝑝 = 𝑃(2 < 𝑋 < 4) = 𝑃 (
2 − 3.3

1.2
<

𝑋 − 3.3

1.2
<

4 − 3.3

1.2
) = 𝑃 (−

13

12
< 𝑍 <

7

12
) ≈

≈ 0.7202 −  0.1393 ≈ 0.5808. 
Therefore 58% of new born babies weight between 2 kg and 4 kg. 
Answer: 58%. 
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